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Bl 4,000,000 &
1265 - - -
Qolg x2S
Bl - g
1266 - | 35.367.363 | 235.367.363
YoSH=NNZOS
BHI: - #
1300 D& KHAHOH 242 2 2 -
1310 S8 DE XA D2 49 2 2 -
1311 1 1 -
& X) 01 24 Cf ® B2EX 1,0008 1,000 &
Bl 1,000 &
312 1 1 -
A2 012t CH ® B2EX 1,0008 1,000 &
Bl 1,000 &
1320 28 DE KA1 40l -
1321 28 D& XHAHH 24 Of - - €
2100 SESHAS - - -
2110 S|t 2 - - -
2111 - - -
=PIp-IE=5 ]
Bl - ¢
2200 DHEHAD 100,000 285,000 185,000
2210 &J|XHe 2 - - -
2211 - - -
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2 8 = (A) ®) )
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2220 J|EF D ™2 100,000 285,000 A 185,000
2221 100,000 285,000 A 185,000
AdHE2s=2+¢ © W=XAIE dUESZ2 =2 50,000,000 50,000,000 &
@ =g dHES3 =+ 50,000,000 50,000,000 &
2k 100,000,000 &
A2 =< & A 71,420,862 105,824,361 A34,403,499
OIAFZE & D01 E K= | - 446,698 AN446,698
1100 J| =7 S Atak - 4,171,894 AN4,171,894
1110 - 3,784,797 AN3,784,797
S EPNE=
2k - &
1120 - 387,097 A387,097
JIEtm S At
2k - &
2100 V=22 - 3,725,196 AN3,725,196
2120 - 164,328 A164,328
Oll=~=
2k - &
2130 - 3,560,868 A 3,560,868
M43
2k - &
2140 - — _
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2k - &
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(20244 033 01LRE 20254 028 28LtXI)
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= 20243 AT | 202331 = ;. ron
= AR | 4RI O At Soss NEE=Y 29
= (A) (8) G
5,905,583 3,757,920 D 147,663
3,753,116 1,615,654 2.137,462
2,055,800 55,800 2,000,000
® AME2 0121y
— D20 55,800,000 55,800,000
® B 20 XIS 2,000,000,0008 2,000,000,000 &
BHI: 2,055,800,000 &
BHI: - g
4,200 4,200 -
® MR oIy
— DAAEAG 4,200,000 4,200,000 &
BHAI: 4,200,000 €
506,420 606,736 ~100,316
@A HE DA SIS 500,000,000 500,000,000 &
® MER oIy
— DAYHFHBSD HALE 1250008120 1,500,000 &
© ZAATHEE 10,0002 +8% 12 960,000 2
® MERH 0124
— DAYFHBLI ATHEE 40,0002 +1204 480,000 €
© BMDSALA AHHEE 2 20,0002 *2% 8 2 320,000 &
© LA D2EE 20,0002+8% 124 1,920,000 &
® AME2 0124y
— DB HSCD IREE 50,0008 «12HE 600,000 2
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© BMDSALA D2LE 2 40,0002+ 25 *8IH 2 640,000 &
B 506,420,000
4115 378,195 367,852 10,343
e © B (AHUSATA L BACEH DN EXDE)
— ZHLE AHASATALE LBIAALZ 12,5002 6,600,000 2
— ZTHZE AHMSATABE HEIFZALZ 1,000,00 44,760,000 &
CEF=E=E
— 0|2 312 *45A124%35,0002+281 )| 9,450,000 &
— 0|2 3B *45A124%37,000 #2381 )| 9,990,000 &
— &2 3]2#75A124%35,0002 7,875,000 &
® AIZFA2IZ (1042 * 3AI% * 153 * 32,0002) * | 299,520,000 2
BI: 378,195,000 %
4116 808,501 581,066 227,435
szzoz @I ENL X S A K12 D
—2 A 35,0002 %29 Al 252 %254 )| 10,150,000 &
~RAAF X292l 100,00021*23] 200,000 &
@zZog=AsD
— 2 AHLH 35,0002 %15 A1 258+ S 2 2 AH500,000% 6,825,000 2
® ZALE 40,00021 4 Al 2452 %103 +3H B4 7 Ef 96,000,000 &
® S ZALE 40,0002 *40 Al 24200 BH+4 7 Ef 12,800,000 &
® K_MoveA 2 At 100,00081+2,100AI 2t 210,000,000 &
© HOHRICHBANSS 100,000 %700A1 2 70,000,000 &
© CHBHIBIDHA 100,0008%1,700A12¢ 170,000,000 &
® ASA DSR2
— 5% 2lH 1S TALE 100,0008+4Z*23] 800,000 &
©MER NS TR0z L M
— QUA AR DEHAE 2ARH] 100,000 2412410 12,000,000 2
© Mg orM Z2
— AHAME NS UALR 75,0002 %2 A 2H+3% +63] 2,700,000 &
© SHAMER DB DT T2
— AEHEBIOIZ ZALE 75,0002 %2 A1 2+105%251 D) 3,000,000 &
— 2B 2 EY0lY T2 AR 75,0008 *43] 6,000,000 &
— 2101210 B Sh= ZO0| ZALE 75,0008 %241 21 3,000,000 &
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o & = (A) (B) G
— OISO AMNEXQG=Z ZAFZ 75,0002 <2 A 2H 1 3,000,000 &
— L= SOPIIS 22048 2 AL 100,000 %2 Al 24 4,000,000 &
— L}Z SOIJHS 012048 2 AL 100,000 %2 Al 24 4,000,000 &
— 2 =H0| YO E I3 B5H= 8 ZAFE 100,0002 4,000,000 &
— 2] J2HI] ZAF2 100,000 %2 A1 2H103]«28tJ) 4,000,000 &
— ZALZAFZ 100,000 %2 A1 2bx105] %254 4,000,000 &
® DI2tHHl S= Yoz
—=224H|2 56,0002 «88Al 2Hx2JH Bt 9,856,000 &
—UBIAH|Y 56,0009 %24 A| 2H273] + 84,000 %24 53,400,000 ¥
® BLS 2%
— 9| 201200,0008 22 *143]+2 B101150,000 2«2 11,600,000 &
® KAL 2%
— 9| 201250,000*3H*113] 8,250,000 &
ZLEROIAIDICHSE 2 AF2 13,800,000 13,800,000 &
© s 32 0}3i00)
—z=u = 35, 000 %2 Al 2% 12 %2 2 Kfx2 54| 3,360,000 &
— 2B KI5 X 35,0009 %4 Al 2t 10 %28+ 2 K| 5,200,000 &
— 3|3} 35,0002 %2 Al 2Hx10Z= %28 | 1,400,000 &
—EH R & 35,0002 %3 Al 2tx 102425t 2,100,000 &
® S48t
— 2AFE 200,000 %15Z 423t 6,000,000 &
© WA SO EFA
— (2,000,000 %13])+(1 5oo ,00024%13])+(1,000,0 18,760,000 &
— 460 BFSIIE AL+ 5 BHI| « 22 79« 30, 48,300,000
B 808,501,000 &
4117 - - -
neg Nz
8 - 2
4118 Zmol2in| - - -
B - o
S 2.152.,467 2,142,266 10,201
4121 236,570 235,568 1,002
x2A3 © MEHPH 01|
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— X@AZ0{ 190,370,000 190,370,000 &
ORE=
—= 230 3,850,000%120HL 46,200,000
BHI: 236,570,000 %
31,780 19,002 12,778
® M2 1Ay
— X2IA0{3 31,780,000 31,780,000 &
BH: 31,780,000 %
112,491 96,558 15,933
® B2EX 1,000 1,000 &
®© M2 oIy
— XYAAZ2Y 110,690,0002 110,690,000 2
OREBIE-E8=
—= T4 150,0002+124 2 1,800,000 &
BHA: 112,491,000 &
164,200 213,321 49,121
© ArBtIZ M@ st n# ol e 3 100,000,000 100,000,000 &
© M2 oIy
— NAUF 2L ASISIS 2,000,0008 %1204 2 24,000,000 2
— NANNYS Mo BARLZ 100,0002 1274 2 1,200,000 &
© M2 oIy
— NAHFRLZ 201013 300,0002 120 3,600,000 &
© 2OIAZ L 200,0002 2% +122 4,800,000 2
© HNALFRLZ A2 VYS
—HAUFLLZ =013 150,0008+124 2 1,800,000 &
© M2 1Y
— XNANFELIZ 2L 1,100,0002+124 2 13,200,000 2
® ALBEB 150,0002+2%*128 3,600,000 &
© NALFRLZ AYRES
—HAUNLCD AL P E 300,00080+ 120 S 3,600,000 &
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= Off kot 4AXtF=Z Ofl oo S AEZ A =
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o124d|
fE= M4MEE 50,000&+124 S 600,000 &
&= 30,000 +2H+12& 720,000 &
NAMELYD MNLED
FEHIFEZ AHHEH 100,000&+124 1,200,000 &
o124d|
FeE= 122& 200,000 *1212 2,400,000 &
&3 70,000&*2H+12F 1,680,000 &
HdRH= 125E8=
PE3 1=22E 150,000 1242 1,800,000 &
BHAI: 164,200,000 &
4125 1,595,026 1,567,631 27,395
S AIZ QI 21H| © St A XA ALY 21 21t]
— S A RIRAAY AR Q28] 1,127,000,000& 1,127,000,000 &
© NHsr 2dat ArY 2124
—X2iisr g4Aat Atg AR 2124H] 135,000,000 135,000,000 &
© Holl&OHSrAtE 3,500,000 x1H+1200 & 42,000,000 &
© et e ks 4,000,000 *3E 12002 144,000,000 &
(© MEtak 0l Y]
- g 1e14dl 56,750,000 56,750,000 &
| MEAReIAY|
2,061,000&+2%H«12& 49,464,000 &
£415,0002x2Hx128)+H(ZF U ZAlH| 150,( 13,560,000 &
o124d|
eI4d] 2,271,000& 12002 27,252,000 &
Al 1,5695,026,000 &
4126 - 310 A310
iol
gHAI: - ¥
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o =2 202431 0= | 20233 H Q= = A 2tol )
= Off kot 4AXtF=Z Ofl oo S AEZ =
o g = (A) (8) el
4127 12,400 9.876 2,524
NAE XA Z (@ 22ak Ol Y]
— MR E A= 600,000 x12)HE 7,200,000 &
® E&Z 2,600,000&*2H 5,200,000 &
sl 12,400,000 &
4200 22|29l 8,092,176 11,206,335 A3,114,159
4210 Al&2teld] 2,692,457 5,246,840 A2,554,383
4211 1,434,870 4,348,489 22,913,619
Fal=3-—-L Jallla] @ AEZe| X (WA =R)
— S, &e 2 2t WAl & A 225 0003 80 18,000,000 &
— AMBAIEE =3 A 5,000,000 5,000,000 &
— &J14Hl == WHMSAH10,000,000& 10,000,000 &
— MJISAEHl B3 At 5,000,000 5,000,000 &
— OlAtHlE2 S8 & AlAE WHISAF86,650,0002 86,650,000 &
© s XA nsH228HZIfA]
—UHe AR EAAMEY H==22/d] 150,000,000 150,000,000 &
© XU 243 AHY DsHPeHZ o1&
—Neiist 2dst AHY Hd==22/8l 1,000,000,000: 1,000,000,000 &
© AldsXlz2tel
— AM&E=S®A2eldl 1,000,000 +122 12,000,000 &
— 52| ==cldl 100,000&*12)H& 1,200,000 &
— JIAAI=XD] ==2ld] 500,000& 121 & 6,000,000 &
— &I Ald = s XZeldl 500,000 = 101 & 5,000,000 &
— Z0E |RANE2==ZAtH] 13,000,000& * 12 13,000,000 &
— A AIE 2 2=H| 300,000 12012 3,600,000 &
@ JIsAtEZ 29 e
— S MEat MO L A E=H| 2,500,000 1204 30,000,000 &
—ZHAEZ CCTV 1 ﬂg—M 15,000,000& 15,000,000 &
— WA a2t A, HEY B 200,000 x50 10,000,000 &
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= 202435 A | 20233|HSE —
= 0fl AtoH AXIEZE Ol atoH i AE2H = Y4
= g = (A) (B) (A-8)
— BIHAEIR XI5t AFEI L AFZ 22| B AL 5,000 5,000,000 &
— SAMER JIETI| B0 WH 2 A 40,000,000 40,000,000 &
— OHAIEFS, 2T AELS 00124 FHI 100,000 %94} 9,400,000 &
— A MER ZSAU BIS2 FYl 5,000,000 28! 10,000,000 &
® JISAESHE L RANA
—J|Z= AL HE 2 2 AF20,000.0002 %1 Al 20,000 &
BHI: 1,434,870,000 ¢
4212 147,915 103,531 44,384
ZH| el ® B2EX 1,000 1,000 &
© A& 22X (B A A +3)
— MI&, 0l ==Y 42l 500,000 +23] 1,000,000 &
— AEDE L2 DA 3000,0008 %13 3,000,000 &
— FEJ1J142] 100,0008+53] 500,000 &
— L] O A EH & A 500,000 %23 1,000,000 &
— IS4 &Y B4ZAF3,000,000 3,000,000 &
® B2 L DNFAY
—s20{eLR2 T2 08 KA L4 352,000+1201 4,224,000 &
® AlES 2L
— YLD B, MY 2 42/H] 600,000 %122 7,200,000 &
® JISA B 29 A
UH AL AHSEDE LHOEEE R H| 1,500,0002 %10M 15,000,000 &
— BHAMERE 5200 FY| 7,000,0002%25¢ | 14,000,000 &
— BB ZH| 22 H 2,500,000 %1200 & 30,000,000 &
® 2t= ZH| 22/H] 200,000%12 2,400,000 &
® JISAE B L 2HMA
—d D] 2 B F | MY 1,700,000 %23 3,400,000 &
—S20| RAES22UEE 820,000 +12I 9,840,000 &
—CCTV &H| B4H| 500,0002 *6JH 2 3,000,000 &
—2 P RH| Rl 350,0002*50H 1,750,000 &
—J|HAH X E2Hl 200,000 124 2,400,000 &
® StE S8 AHl IDC MHIA HIZ 12J12*2,200,000 26,400,000 &
® SIES IMS SX 24 HIS 12I42+1,650,0008 19,800,000 &
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© CON ZHI= & SAIBI(fFBa = MM A
B: 147,915,000 &
4213 7,100 800 6,300
= el OPNE=EEIPSICIRAERC)
— 5%, S8 TZZUIAS 1,300,0008+13] 1,300,000 &
— OIZ X 200,00021+38] %50 3,000,000 &
® AEBAIL 2R
—X 222 A PLHI 100,0002 %121 1,200,000 2
—51CH 2 ZH22H| 200,000 *87H & 1,600,000 &
BHA: 7,100,000 #
4214 - - -
Sr2 LYl
BA: - 9
4215 1,028,381 680,124 348,257
INEEE=T © BAoIAR ALY B
— HDI2Hel2eltg 550,000 «30H 2 1,650,000 &
— o2l 8 1,000 1,000 &
— Al&8H 200,000 %8I 2 1,600,000 &
— SASHeIE 1,0009 1,000 &
ORNE=EEIPSICIREERC)
— @4xel2eliiE 650,0002 12042 7,800,000 2
— Il M BRICHE 310,000 * 120 3,720,000 &
— Aol M BRI CHE 300,000 %1204 S 3,600,000 &
— MPIAEZ2 9etBe| S9Y| 850,000 23] 1,700,000 &
— A=Z2 FIIFA A=2 el Y| 3,000,0008 3,000,000 &
— 29354 650,000 23] 1,300,000 &
— MO MHAES AYRIIE AHSESEH 550,000 &
© ASFXNZAANAL ST Z2H S 736,0002 12 8,832,000 &
@ A2 NS
— 013 892 20,000,00021*12)H 240,000,000 &
— SEHUIAAE 82 190,0008*12HE 2,280,000 &
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(o AlAOHM 22|

— JIAAMFIDIR X2 SHH81 1,200,000 %1200 F 14,400,000 &

— SZIJIRANEL= ESH| 190,000& 1204 2,280,000 &

— agordate] FREA Haidl 400,0003+120HE 4,800,000 &

® AEsXI2e]

— WAt Y dJIEHl FAIE2==H] 250,000& * 1 3,000,000 &

— SAHAERE A 2] SHH| 231,000&«122 2,772,000 &

— AHARZE US| & 485 FF EHH| 570 570,000 &

— 283 ZA(H238]) 94| 420,000 23] 840,000 &

— &I &H| ot & EH 1950KVA + 1,500 2,925,000 &

— JIAIEH |Xl2tcl &l 7,500,000 +E13] 7,500,000 &

© JIsAHEE 2 e

— sHAME 2 EHP & FOU A LDl &4 57,000,000€ 57,000,000 &

—sdJ|l |RXAE=+1,200,000& 1242 14,400,000 &

— OtMEI2 &Dltd el = 73,000 1200 876,000 &

— =3 A 500=+3,000& 28| 3,000,000 &

—sME ASE I Bl 5,000,000 +22] 10,000,000 &

— A e IUIO”E’.%?:* 2 FUorMF 24| 7,500 15,000,000 &

—d2xJ] FXE= 870,000&*1 ZJH% 10,440,000 &

— a2 SHOIX 2Z2tel KA 1,232,0003 *1 14,784,000 &
L2LARUHSE =2 1,500,00024* 2HE 18,000,000 &

— CHOIEHE AlE TS ZEH| 2,000,000 284 ] 4,000,000 &

—JIAEH d=s&8& @12 «11,000,000& 11,000,000 &

® Mol AHY|

— 0l 94l 12,500,000 122 150,000,000 &

— &H| 94| 9,350,000& 12042 112,200,000 &

@ et ol2i]

— O0l3t 894l 12,500,000 1242 150,000,000 &

— ZH| 94| 9,350,000& 1204 & 112,200,000 &

@ A|A4:’_}\I.DI_?_|- |

—A YAl et 2te|HEE 170,000 1200 = 2,040,000 &

M= & SUHS+2 =Z 3 Atd] 50,0003 23] 100,000 &

—SAIDEA ZDIH AHI 220,000 +1 3 220,000 &
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—Xted THLHCHH] QA & 24H| 500,000 *33) 1,500,000 &
—Z2 DoAY RIS CHH| oFAM E 21 H| 500,000 %13l 500,000 &
—HIIXIIEE 22H| 2,000,000 %23 4,000,000 &
—HE AS L g KAH| 200,000%53) 1,000,000 &
—& | &l @ |OF& 2t2|CHEE 2 1,400,000%1 200 16,800,000 &
—EHP SXI22IE4 2 350,000%1200 4,200,000 &
1,028,381,000 o
4216 6,431 5,700 731
AR A2l A|M B8 22
MAIS AU B S 1,000 1,000 &
JbAAFD BHAMZEQ 28 30,000 +13] 30,000 &
AU AR H B 2 300,000 %13] 2,300,000 &
BHACfSrUC A2 SHIHEE 2,900,000 2,900,000 &
Al & orE 22|
2| AF D HH AL EH 201 * 50,000 100,000 &
© Z4H L 203
— AM&E82 500,000 500,000 &
® S| L ANERIES 2 B8E S 600,000 &
6,431,000 &
4217 40 15 25
clAYx2 ®© AlZZe| M (HAASR)
HEER 22 s " e 41-281K1° 40,000 &
40,000 #
4219 67,720 108,181 A40,461
J|EFAI & 2+2]HI BHA oI 2 JIEFAl A 22
P2 HE S 300,000&+83] 2,400,000 &
HEEHA 24,0002%100E 2,400,000 &
D22l 3,610,000«14 3,610,000 &
A|§D_+a|i+(ﬂﬁw<ﬁ/\°i)
Azl 2 J|DJ]2=2] 700,000 x50 3,500,000 &
HEZEA 10,0002%100E 1,000,000 &
YA 2 D[D14:2/100,0002 x4 )4 2 400,000 &
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o g = (A) (8) el
— XJtE &I F I AL 1,000,000 « 18] 1,000,000 &
®© HEtsAXRAY DS PHZ N M|
—CHB! 8 ALK 2 ALY JIEFAI & 2E2IHI 18,000,000 18,000,000 &
® Jlet A2 K22
— A28H| 150,00081+53] 750,000 &
~ 22BE L AEB4H|E 1,000,000 23| 2,000,000 2
— Nt X2 2228 3,500,000823) 7,000,000 &
@ AEpe geg 2y o B4
—AlgBe 228 P L 24Ul 500,0002 12 6,000,000 &
—AE 2|8 FZ 7| 330,0002*12)HE 3,960,000 &
—MAIS 2= NIH ZeH| 2,000,0002*23 4,000,000 &
—MAIS HAH 2,000,0008+23] 4,000,000 &
~RIEBHEE 2| 3,0008+1000E+13] 3,000,000 &
—HIJI2 HM2ldl 200,00020 %120 2,400,000 2
—H5IE HAH| 2,300,0008+13] 2,300,000 &
BH: 67,720,000 &
e ] 2,779,396 2,733,103 46,293
4221 163,330 199,000 £35,670
o8l LS| ® K_MoveA 2 At 3,000,0008 474 2t & +2 % +23] 48,000,000 2
© HHTHSEALS 3,000,000 +20H BH*2H*25] 24,000,000 2
® THSt QIS DA 3,500,000 *4 0} B & %23 #23] 56,000,000 2
O@ZHILEA HARFIIZ SZH| 1,600,0008 * 2¢ 35,200,000 2
@ SHSUN ASYYDY SFH| 65,0002 152 130,000 &
BHA: 163,330,000 &
4202 1 1 -
MR ® B==31,0002 1,000 &
B 1,000 &
4223 424,180 413,641 10,539
A DEY| @ BAoIAe ADN HIE S 29 22
— ZHIAAE & 2HZHI 90,000 «12HS 1,080,000 &
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— DIEF AIE 23 223 72 400,000 642 2,400,000 &
— =4 0|2 2| 35,0002 *3007H 10,500,000 &
® ZIOAY
—JISWHEE 75 L XHEE 5,000+26,0005 360,000,000 &
® 2Z A2 400,0004+53] 2,000,000 &
® ANERX2e
— &yl22l 22EH 100,000 +12 1,200,000 &
— &I|, A% APEH| 250,000 1200 3,000,000 &
© DA B H 29 e
— A M M| ADEH| 2,000,000 1204 24,000,000 &
— HIHAE2 A2E 1,000,000 %25} 2,000,000 &
—MAMSY B4R ADEYH| 1,500,000212) 18,000,000 &
BHAI: 424,180,000 &
4224 4,340 4,040 300
Ol M S EHH ® JIEXHER QIHHl 2,000,000 2,000,000 &
® SWASOHLIEFA
—AL4F(602+12,000))*28¢ )| 1,440,000 &
® St& WA BWOIE Wi 2 202 * 30,000€ 600,000 &
© P2 X2 21448l 300,000 300,000 &
BHAI: 4,340,000 &
4225 615,000 649,441 A34,441
Lhetyl © SHA 4@ haty] 722 7,000,000 %33 21,000,000 &
® AL2A2223
— W32 0YFE L 2L Sl 1,000,000 %12 12,000,000 &
© Jad 2 302
— SHA A SERE LHEE 245,000,000 %1200 540,000,000 &
® Hehl
—dLher® T AIDEAH] 3,500,000 12002 42,000,000 &
BHAI: 615,000,000 &
4226 1,004,000 999,000 5,000
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FSPIEN= O EER N
— W32 0YF L 222 M2 1,000,0008%12 12,000,000 &
© A2 H(HAASR)
— HMJ|2 6,500,000 * 1204 78,000,000 &
® UStEAIXIRAAS JIEIAIS 29 2|
—jsrs A XK ALY B D2 200,000,000 200,000,000 &
® Aleaeignn=
— BB S MDIR2 17,600,0002 * 1204 211,200,000 &
® BAH L 2p=2
— BHAMED M| Q2 220,000,000 %1200 240,000,000 &
— OLAEIR, 2IHAER MI|Q2 21,500,000 %12 18,000,000 &
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